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Computing the mixed-strategy Nash equilibria 

 

Theorem. At a Nash equilibrium in mixed strategies, a player must be indifferent between any two PURE 
strategies that she plays with positive probability. 

A 15 3 36 0

B 34 0 30 2
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Theorem. At a Nash equilibrium in mixed strategies, a player must be indifferent between any two strategies that she plays with positive probability. 

Provides a necessary, but not sufficient, condition for a mixed-strategy profile to be a Nash equilibrium 

A 6 0 0 4
Player 1 B 0 4 6 0

C 4 0 4 2

D E

Player 2
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Player1 B 2 g 2 i g 2

C 6 g 1 i g 59 1
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Theorem. At a Nash equilibrium in mixed strategies, a strategy which is strictly dominated by a pure or 
mixed strategy must be played with zero probability. 

A 0 1 3 0 5 0
Player 1 B 1 2 1 4 2 3

C 3 0 0 2 0 1

D E

Player 2
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Theorem. At a Nash equilibrium in mixed strategies, a strategy which is strictly dominated by a pure or 
mixed strategy must be played with zero probability. 
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Player 1 B 1 2 1 4 2 3
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